[ Fake rate vs normalized x? | [ Duplicates Rate vs normalized x? | [ Pileup rate vs normalized x? |

v v 0.05F x 08
=< =< o B
¢ %.045F 2
; Q E o 0.7
g S0.04F g
o 0.8 1) E a 0.6
K £.035F 3
o E 5
0.6 S0.03F et =05
S E
0.025F 0.4
0.02F 4 0.3
0.015F--=
E 0.2
0.01F+
0.005f+ =
o +0f : o
g g g
0.9
] 4 6 8 10 12 14 16 18 20 1416 18 20
track x2 track x2 track x2

Fake rate vs.

0 08— T T ) 4
g T T [ 0>J‘
8 0.7 3. s
(@] (@] (@]
= D. £
3 2 3
] 9.007 o
" [ [%2]
> %.006 >
g o o
o %.005 e
2 8 S
£ .004 2

L [

Ratio
Ratio

= Tog Do e 0.8 : g :

T ] S TECTECT %57, e, 7 On,

ey 7&7!’0 e 3 roLTSL T 2 L o

ARty {JEC r@'ﬂ"é‘ fockiegh ogslonsiont hTon, 083, 0%s,, 08,
2 o2y ey g Moo EC e Mrogy "Tog




	Contents
	Page 1


